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FRACTIONS AND DECIMALS

1. Can you tell what this picture will represent ? (fig.

2.4)


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_VEpmBGJfFzum
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° Watch Video Solution

3

2
2.C tell3 X — =7,4x — =
an you te - 4 X 2

?

° Watch Video Solution

8
3.3 X = =7, 4><Z:?
7 5

° Watch Video Solution



https://dl.doubtnut.com/l/_VEpmBGJfFzum
https://dl.doubtnut.com/l/_7MLVd0db3xu8
https://dl.doubtnut.com/l/_TfLYu8mvrLnd

4F'd3'1
. FiN 5

° Watch Video Solution

5. Observe these products and fill in the blanks

1 5 4 5xi 20
Tx7 =1 4 E T 4x5-20 "
1 2 |7
§x9==1 7“2“'1
2.3 2x3 8 L) I
3X2*3x2 "6 "' 5| 9

o Watch Video Solution



https://dl.doubtnut.com/l/_TfLYu8mvrLnd
https://dl.doubtnut.com/l/_xIYdNJbwHQiI
https://dl.doubtnut.com/l/_ym7k8BzqiMv1

1
6. What is the reciprocal 9 ?°

° Watch Video Solution

2
7.What is the reciprocal - ?

o Watch Video Solution

8. Write 75 paise=Rs..........

° Watch Video Solution



https://dl.doubtnut.com/l/_NnS8lViLu7mu
https://dl.doubtnut.com/l/_a7l57Zta0QKi
https://dl.doubtnut.com/l/_QV8bbi9G2Xb4

° Watch Video Solution

10.85cm=.......... m

o Watch Video Solution

11. What is the value of 0.19 + 2.3 ?

° Watch Video Solution



https://dl.doubtnut.com/l/_MWfA2Fb11lF7
https://dl.doubtnut.com/l/_PawWNEucxM9w
https://dl.doubtnut.com/l/_hL2khonp0ThC

12. Teill the value of 39.87 — 21.98

° Watch Video Solution

13.Find 0.2 x 0.4

o Watch Video Solution

14.Find 1.5 x 1.6

° Watch Video Solution



https://dl.doubtnut.com/l/_mZdsikEYD1j6
https://dl.doubtnut.com/l/_QY9mKamsYAqq
https://dl.doubtnut.com/l/_vsfZN5v1PU5k

15.Find 2.4 x 4.2

° Watch Video Solution

16. Find 2.7 x 1.35

o Watch Video Solution

2
1. Find - X 3 If the product is an improper fraction

express it as a mixed fraction

| e |


https://dl.doubtnut.com/l/_V5vCVy50bgRA
https://dl.doubtnut.com/l/_F39kzy8R6sdP
https://dl.doubtnut.com/l/_DpNYgIpk5QBt

| & Watch Video Solution

9
2.Find - X 6 If the product is an improper fraction

express it as a mixed fraction

° Watch Video Solution

1
3.Find 3 X 3 If the product is an improper fraction

express it as a mixed fraction

° Watch Video Solution



https://dl.doubtnut.com/l/_DpNYgIpk5QBt
https://dl.doubtnut.com/l/_yKzfWzD29Gs8
https://dl.doubtnut.com/l/_Qf6OqWKtRy1k

13
4. Find 17 % 6 If the product is an

fraction express it as a mixed fraction

improper

o Watch Video Solution

5.Represent pictorially: 2 X — = —

° Watch Video Solution

3
6.Find b x 2—
7

° Watch Video Solution



https://dl.doubtnut.com/l/_yBK3qJbgpd17
https://dl.doubtnut.com/l/_PPaxXVOTIiMY
https://dl.doubtnut.com/l/_ib3zDtGdXhtN
https://dl.doubtnut.com/l/_SAeEWTbWDfRK

7. Find 1é X 6
9

° Watch Video Solution

8. Can you tell, what is

. f10?
5 of 10

o Watch Video Solution

9. Can you tell, what is

L f16?
5 °f16¢

° Watch Video Solution



https://dl.doubtnut.com/l/_SAeEWTbWDfRK
https://dl.doubtnut.com/l/_Pyoci3hvlsUQ
https://dl.doubtnut.com/l/_xReJHYkFPF1I

10. Can you tell, what is

2 f257?
=~ ‘

o Watch Video Solution

11. Fill in these boxes :

1 1 1x1
2 7T T ax7

° Watch Video Solution

12. Fill in these boxes :

1><1—D—EI
5 7T a

S


https://dl.doubtnut.com/l/_ZdZehTMxCeH7
https://dl.doubtnut.com/l/_ypp3N2MpJT8i
https://dl.doubtnut.com/l/_59cxuvAK0kR2

| ¥ Vvatch Video Solution

13. Fill in these boxes :

1><1—D—D
7 2 N

° Watch Video Solution

14. Fill in these boxes :

1 1 = =
_X—: p—
7 5

° Watch Video Solution

15. Find : X

w| =


https://dl.doubtnut.com/l/_59cxuvAK0kR2
https://dl.doubtnut.com/l/_eCM1oS9UjIOE
https://dl.doubtnut.com/l/_sFViuhFKry9a
https://dl.doubtnut.com/l/_OsBPbyAluARC

° Watch Video Solution

8 3 2
16.Find:§ X ;’Z X 3

° Watch Video Solution

2 2
17.7 + = 7 X reciprocal of 5

o Watch Video Solution

4
18.6 + = = 6 X reciprocal of%

o Watch Video Solution



https://dl.doubtnut.com/l/_OsBPbyAluARC
https://dl.doubtnut.com/l/_nLoMFOgnysCA
https://dl.doubtnut.com/l/_lGcHFgBZMSZa
https://dl.doubtnut.com/l/_rQvNCUdnz4hj

8
19.2 + 9 2 X reciprocal of —

o Watch Video Solution

) 1 5x 3 x1 16
20.Find6 -~ 5— =6 + =6 —
3 3 3

° Watch Video Solution

21F'd7'24—7' 2x7x4 18
. FIN . 7— . 7 . 7

° Watch Video Solution



https://dl.doubtnut.com/l/_rQvNCUdnz4hj
https://dl.doubtnut.com/l/_N09HckI0QgJo
https://dl.doubtnut.com/l/_EySSw5lob2O0
https://dl.doubtnut.com/l/_NSZGjhqUTWdl
https://dl.doubtnut.com/l/_Pfx5orLLxWIg

22F'd3°
.FINd —
5

|~

o Watch Video Solution

3
5

23F'd1
. FIN 5.

° Watch Video Solution

1 3

24.Find 22 -

° Watch Video Solution

1 9

25.56 ol


https://dl.doubtnut.com/l/_Pfx5orLLxWIg
https://dl.doubtnut.com/l/_CXr6pR7372MG
https://dl.doubtnut.com/l/_aw0LpxGcva7Y
https://dl.doubtnut.com/l/_NQPgAdqzbUTd

° Watch Video Solution

26.Find 2.7 x 4

o Watch Video Solution

27.Find 1.8 x 1.2

o Watch Video Solution

28.Find 2.3 x 4.35

o Watch Video Solution



https://dl.doubtnut.com/l/_NQPgAdqzbUTd
https://dl.doubtnut.com/l/_H8AFf51J3coG
https://dl.doubtnut.com/l/_MSdHA4MMQtLF
https://dl.doubtnut.com/l/_ExwkoCKqFW3c

29. Arrange the products obtained in 1 in

descending order. So the products obtaind in (1) are

10.8, 2.16, 10.005

° Watch Video Solution

30. can you

297 x10=7 297 x 100 =7

tell

2.97 x 1000 = 7

o Watch Video Solution



https://dl.doubtnut.com/l/_ExwkoCKqFW3c
https://dl.doubtnut.com/l/_ZjqPlR59SUDT
https://dl.doubtnut.com/l/_5qvng5BtgrF4

31. Can you help Reshma to find the total amount i.e

Rs. 8.50 x 150, that she has to pay ?

° Watch Video Solution

32.Find

0.3 x 10

° Watch Video Solution

33.Find

1.2 x 100

S


https://dl.doubtnut.com/l/_CUgEnNGv4rOZ
https://dl.doubtnut.com/l/_PxwqXyhPaetG
https://dl.doubtnut.com/l/_DQtjFBNKJM5b

| ¥ Vvatch Video Solution

34. Find

56.3 x 1000

° Watch Video Solution

35.Find

235.4 + 10

o Watch Video Solution



https://dl.doubtnut.com/l/_DQtjFBNKJM5b
https://dl.doubtnut.com/l/_b0opSM1cTgdy
https://dl.doubtnut.com/l/_pdPlTvuEaXlv

36. Find

235.4 = 100

o Watch Video Solution

37.Find

2354 -+ 1000

° Watch Video Solution

38. Find

35.7+3="7

S


https://dl.doubtnut.com/l/_YLfcJ3JbxB64
https://dl.doubtnut.com/l/_BURXNTsOBXEJ
https://dl.doubtnut.com/l/_geeCPyGMRfAZ

| @ Vvatch Video Solution

39. Find

255 +3="7

° Watch Video Solution

40.Find

43.15+1=7

o Watch Video Solution



https://dl.doubtnut.com/l/_geeCPyGMRfAZ
https://dl.doubtnut.com/l/_WfxFNREVsSFc
https://dl.doubtnut.com/l/_3vosoGI9ITMZ

41.Find

8244 -6 =7

o Watch Video Solution

42.Find

15.5 + 5

° Watch Video Solution

43. Find

126.35 = 7

S


https://dl.doubtnut.com/l/_ORrahDaOiBLW
https://dl.doubtnut.com/l/_C7qF5fXHaihC
https://dl.doubtnut.com/l/_OSWbVCItqYJN

| @ Vvatch Video Solution

44.Find

7.75
0.25

° Watch Video Solution

45. Find

42.8
0.02

o Watch Video Solution



https://dl.doubtnut.com/l/_OSWbVCItqYJN
https://dl.doubtnut.com/l/_rvgYfuBa5bnL
https://dl.doubtnut.com/l/_OZoKyy1t3t5F

46. Find

5.6
1.4

o Watch Video Solution

Think Discuss And Write

1. Will the reciprocal of a proper fraction be again a

proper fraction?

o Watch Video Solution



https://dl.doubtnut.com/l/_PfzxMegM7Gik
https://dl.doubtnut.com/l/_ok6sZjuh8IRM

2. Will the reciprocal of an improper fraction be

again an improper fraction?

o Watch Video Solution

1. Solve.
5 3 B 2 3
5 1 5)

o Watch Video Solution



https://dl.doubtnut.com/l/_palC4HEeVHS1
https://dl.doubtnut.com/l/_ehvt5IBHZFng

o Watch Video Solution

3. Solve.
3 2
5 7

° Watch Video Solution



https://dl.doubtnut.com/l/_pOGVt5OJO6PH
https://dl.doubtnut.com/l/_P6rDg1uo0CL6
https://dl.doubtnut.com/l/_LWm3j68V0mnQ

| ¥ Vvatch Video Solution

° Watch Video Solution

6. Solve.
22 31_3><2+2 2><3—|—1_8 7
3+ 2 3 + 2 _3+2

° Watch Video Solution



https://dl.doubtnut.com/l/_LWm3j68V0mnQ
https://dl.doubtnut.com/l/_3wnDLAP4w3S5
https://dl.doubtnut.com/l/_NGc1zS7lr9rS

7. Solve.

1 .5 2x8+1 8x3+5 17 29

85_3§_' 2 8 2 8

o Watch Video Solution

8. Arrange the following in descending order.

9’3’21

° Watch Video Solution

Arrange the following in descending order:

Y

o.
1 7
57 10

3| w

S


https://dl.doubtnut.com/l/_WThDZA96XIIQ
https://dl.doubtnut.com/l/_n3I6hdTUwSer
https://dl.doubtnut.com/l/_mYTEmyR8lguf

[ o VWatch Video Solution ]

10. In a "magic square" the sum of the numbers in
each row in each coloumn and along the diagonals

is the same. Is this a magic square ?
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° Watch Video Solution



https://dl.doubtnut.com/l/_mYTEmyR8lguf
https://dl.doubtnut.com/l/_hkSFOhef0dbb
https://dl.doubtnut.com/l/_QR8SM5QVwVn6

11. A rectangular sheet of paper is 12§cm long and

2
10§cm wide. Find its perimeter.

° Watch Video Solution

12. Find the perimeter of

AABE



https://dl.doubtnut.com/l/_QR8SM5QVwVn6
https://dl.doubtnut.com/l/_QdaFhr0ze5wy

‘ ° Watch Video Solution

13. Find the perimeter of
the rectangle BCDE in the figure.

Whose perimeter is greater ?

A
'E-mﬂ K Eﬂm
2 g 5
2 om
B E
i
—em
| . G
C 1

o Watch Video Solution



https://dl.doubtnut.com/l/_QdaFhr0ze5wy
https://dl.doubtnut.com/l/_Dn8tYom0JBwj
https://dl.doubtnut.com/l/_WUzY413jjeSy

14. Salil wants to put a picture in a frame. The

picture is 7gcm wide. To fit in the frame the picture

3
cannot be more than 71—Ocm wide. How much

should the picture be trimmed?

° Watch Video Solution

3
15. Ritu ate 5 part of an apple and remaining apple
was eaten by her brother Somu. How much part of
the apple did Somu eat? Who had the larger share?

By how much?

° Watch Video Solution



https://dl.doubtnut.com/l/_WUzY413jjeSy
https://dl.doubtnut.com/l/_17Wb2aekxY4e
https://dl.doubtnut.com/l/_IBPEe7CwipS7

16. Michael finished colouring a picture in T hour.

3
Vaibhav finished coluring the same picture in 7

hour. Who worked longer? By what fraction was it

longer?

° Watch Video Solution

1. Write of the drawing (a) to (d) show:

N 9 1..2 1...3 2.3 1
(i) xg(u) ><§(|||) ><§(|v) XZ


https://dl.doubtnut.com/l/_IBPEe7CwipS7
https://dl.doubtnut.com/l/_PDLZW6dYs5e2

{a)

(b)

(e)

(d)

° Watch Video Solution

2. Some pictures (a) to (c ) are given below . Tell

which of them show :


https://dl.doubtnut.com/l/_PDLZW6dYs5e2
https://dl.doubtnut.com/l/_pknni3pVfLv4

o Watch Video Solution

3. Multiply and reduce to lowest form and convert

into a mixed fraction:

7><3
5

o Watch Video Solution



https://dl.doubtnut.com/l/_pknni3pVfLv4
https://dl.doubtnut.com/l/_7VSpq7DwRAlk
https://dl.doubtnut.com/l/_YROPIyQh0hHN

4. Multiply and reduce to lowest form and convert

into a mixed fraction:

1 1
><_
3

° Watch Video Solution

5. Multiply and reduce to lowest form and convert

into a mixed fraction:

2><6
7

° Watch Video Solution



https://dl.doubtnut.com/l/_YROPIyQh0hHN
https://dl.doubtnut.com/l/_YjAQRxMwRj1E

6. Multiply and reduce to lowest form and convert

into a mixed fraction:

5><2
9

° Watch Video Solution

7. Multiply and reduce to lowest form and convert

into a mixed fraction:

2><4
3

o Watch Video Solution



https://dl.doubtnut.com/l/_rXt72ZsVZLvN
https://dl.doubtnut.com/l/_29O5QhUC7ElS

8. Multiply and reduce to lowest from and convert

into a mixed fraction.

5><6
2

° Watch Video Solution

9. Multiply and reduce to lowest form and convert
into a mixed fraction:

11><é
7

o Watch Video Solution



https://dl.doubtnut.com/l/_Ea0HIGsCkAdt
https://dl.doubtnut.com/l/_0LHnypTICFqC

10. Multiply and reduce to lowest form and convert
into a mixed fraction:

4
20 x =
“ 5

° Watch Video Solution

1. Multiply and reduce to lowest form and convert

into a mixed fraction:

13><1
3

o Watch Video Solution



https://dl.doubtnut.com/l/_Qn3DueTzamNX
https://dl.doubtnut.com/l/_0zmnzor81HeR

12. Multiply and reduce to lowest form and convert

into a mixed fraction:

15><3
5

° Watch Video Solution

1 2
13. Shade (i) 3 of circles in box (a) (ii) 3 of the

triangles in box (b) (iii) 5 of the squares in box (c)

OO0 AAN OOogod
888 AAD oOoooOd

Q00| (ALA Oooogo
(a) (b) {c)

° Watch Video Solution



https://dl.doubtnut.com/l/_iAPlsXAx1uaR
https://dl.doubtnut.com/l/_NrGOKE00z5QK
https://dl.doubtnut.com/l/_PiPi1EcCEWPA

14. Find

% of (i) 24 (ii) 46

o Watch Video Solution

15. Find

2 f (i) 18 (ii) 27
§O(I) (i1)

° Watch Video Solution

16. Find

5 f (i) 16 (ii) 36
ZO(I) (i)

| ﬂ\n',l,l,|",l,,n,l n®


https://dl.doubtnut.com/l/_PiPi1EcCEWPA
https://dl.doubtnut.com/l/_lm8Bq9dF8qyU
https://dl.doubtnut.com/l/_AzABNQn7wPv0

{ ' Vvvallil ViGCO >01IUution

17. Find

5 (1) 20 (ii) 35

° Watch Video Solution

18. Multiply and express as a mixed fraction.

3><51 =3 X oxo+1 =3 X 26
5 5 - 5

° Watch Video Solution



https://dl.doubtnut.com/l/_AzABNQn7wPv0
https://dl.doubtnut.com/l/_qtWgJc66ZiXt
https://dl.doubtnut.com/l/_gesinXNk60eT

19. Multiply and express as a mixed fraction.

3 6 x4+ 3 27
5><GZ—5><( 1 )—5><T

° Watch Video Solution

20. Multiply and express as a mixed fraction.

1 2x4+1
7><2Z—7><( 1 )

° Watch Video Solution

21. Multiply and express as a mixed fraction: 4 X 6§

° Watch Video Solution



https://dl.doubtnut.com/l/_AFAEQGlwto4Q
https://dl.doubtnut.com/l/_zgNmG1VmwfGk
https://dl.doubtnut.com/l/_xEFwE73XJM55

1
22. Multiply and express as a mixed fraction: 3Z X 6

° Watch Video Solution

2
23. Multiply and express as a mixed fraction: 33 X 8

o Watch Video Solution

24.Find
! f(')23(")42
EO i Z" 9

° Watch Video Solution



https://dl.doubtnut.com/l/_xEFwE73XJM55
https://dl.doubtnut.com/l/_LGTnKjmmXGcH
https://dl.doubtnut.com/l/_bP1nSUmii1A6
https://dl.doubtnut.com/l/_XGbo6HRAiQLG

25ﬁd5 1‘(')35(")92
-find = of (i) 3 (ii) 93

° Watch Video Solution

26. Vidya and Pratap went for a picnic. Their mother

gave them a water bottle that contained 5 litres of
. 2

water. Vidya consumed 5 of the water. Pratap

consumed the remaining water.

How much water did Vidya drink?

o Watch Video Solution



https://dl.doubtnut.com/l/_JFOmdOVRbOy8
https://dl.doubtnut.com/l/_OdYMDYlqynRU

<c>§

ol w

° Watch Video Solution

2.Find :
L 1‘()2(b)6()3
7o g gicg

° Watch Video Solution

3. Multiply and reduce to lowest form (if possible) :

2,2
3773

S


https://dl.doubtnut.com/l/_rsJrCFeRGAYb
https://dl.doubtnut.com/l/_IJft0gJupM8I
https://dl.doubtnut.com/l/_o9QeZGBdbWZD

| ¥ Vvatch Video Solution

4. Multiply and reduce to lowest form (if possible) :

2 7
— X —
7 9

° Watch Video Solution

5. Multiply and reduce to lowest form (if possible) :
3 6

— X —

8 4

° Watch Video Solution



https://dl.doubtnut.com/l/_o9QeZGBdbWZD
https://dl.doubtnut.com/l/_1T17QLIZ7kgw
https://dl.doubtnut.com/l/_LalAtZ7rA8H7

6. Multiply and reduce to lowest form (if possible) :

9><3
5

o Watch Video Solution

7. Multiply and reduce to lowest form (if possible) :

1 15
_X_
3 8

° Watch Video Solution

8. Multiply and reduce to lowest form (if possible) :
11 3



https://dl.doubtnut.com/l/_m1qAHFtzxZyb
https://dl.doubtnut.com/l/_EBUsu9sUUkkt
https://dl.doubtnut.com/l/_Tg2L8dXM4sz9

| ¥ Vvatch Video Solution

9. Multiply and reduce to lowest form (if possible) :

4 12
57 7

° Watch Video Solution

10. Multiply the following fractions:

2 51
— X h—
s} 4

° Watch Video Solution



https://dl.doubtnut.com/l/_Tg2L8dXM4sz9
https://dl.doubtnut.com/l/_jhN8an2HUkcV
https://dl.doubtnut.com/l/_IdwajKpgSMxB

11. Multiply the following fractions:
2 7
6— X —
59

° Watch Video Solution

12. Multiply the following fractions:

3 51
— X h—
2 3

° Watch Video Solution

13. Multiply the following fractions:

5,3
6" "7

e


https://dl.doubtnut.com/l/_V0g9E4XoqRRR
https://dl.doubtnut.com/l/_n2ekGmprEKQK
https://dl.doubtnut.com/l/_CvpyI9ylj7Me

| @ Vvatch Video Solution

14. Multiply the following fractions:

2
3—><é
5 7

° Watch Video Solution

15. Multiply the following fractions:

3
2— x 3
5

° Watch Video Solution



https://dl.doubtnut.com/l/_CvpyI9ylj7Me
https://dl.doubtnut.com/l/_L5gMgZ29rdxe
https://dl.doubtnut.com/l/_6BQpCbx7boRj

16. Multiply the following fractions:

4 3
3= « 2
775

° Watch Video Solution

17. Which is greater:

2 3 3 .5
7077 " 573

° Watch Video Solution

18. Which is greater:

1 6 2 3
3007 o 3ol%

S


https://dl.doubtnut.com/l/_QDrtyvjIDonD
https://dl.doubtnut.com/l/_YE7PSmVx6Yk3
https://dl.doubtnut.com/l/_y0qasNy9VCnr

[ o VWatch Video Solution ]

19. Saili plants 4 saplings, in a row, in her garden.

3
The distance between two adjacent saplings is 7

Find the distance between the first and the last

sapling.

° Watch Video Solution

3
20. Lipika reads a book for 1Z hours everyday. She

reads the entire book in 6 days. How many hours in

all were required by her to read the book?

° Watch Video Solution



https://dl.doubtnut.com/l/_y0qasNy9VCnr
https://dl.doubtnut.com/l/_iUGOWuS96dVL
https://dl.doubtnut.com/l/_jSZ1IZe7revv

21. A car runs 16 km using 1 litre of petrol. How much

3
distance will it cover using ZZ litres of petrol.

° Watch Video Solution

22. Provide the number in the box [J , such that

9 10
S0 ="
3~ 30

The simplest form of the number obtained in [ is

o Watch Video Solution



https://dl.doubtnut.com/l/_jSZ1IZe7revv
https://dl.doubtnut.com/l/_8GpVkB93xN5m
https://dl.doubtnut.com/l/_8gxaPK7DZNLs

23. Provide the number in the box, such that

3
— X |:| — 2_4.,
5) 75

The simplest form of the number obtained in [

IS

° Watch Video Solution

24. Provide the number in the box, such that

3
—_ X |:| — 2_4.
5) 75

The simplest form of the number obtained in [

’

IS

° Watch Video Solution



https://dl.doubtnut.com/l/_dgEdm4cT5FnK
https://dl.doubtnut.com/l/_HbJGY98DrLeo

25. Provide the number in the box [ , such that

2 10
3 U =3

The simplest form of the number obtained in [ is

° Watch Video Solution

o Watch Video Solution



https://dl.doubtnut.com/l/_Iv9IqNNgbVtu
https://dl.doubtnut.com/l/_bZyRUMhoZGGa

2. Find:

14’5
"6

o Watch Video Solution

3. Find:
7
8 = 3

° Watch Video Solution

4.Find
4 = 8
"3



https://dl.doubtnut.com/l/_orzCqNz7h7oE
https://dl.doubtnut.com/l/_Lrjm5i41B5FB
https://dl.doubtnut.com/l/_iiYeoF2zGW2b

| ' Vvatch Video Solution

5. Find:
3= 21
)

° Watch Video Solution

6. Find:
5= 3é
7

o Watch Video Solution



https://dl.doubtnut.com/l/_iiYeoF2zGW2b
https://dl.doubtnut.com/l/_OXqlOdkFlpty
https://dl.doubtnut.com/l/_MOCOyjvuNot2

7. Find the reciprocal of each of the following
fractions. Classify the reciprocals as proper

fractions, improper fractions and whole numbers.

3

7

° Watch Video Solution

8. Find the reciprocal of each of the following
fractions. Classify the reciprocals as proper

fractions, improper fractions and whole numbers.

5

8

° Watch Video Solution



https://dl.doubtnut.com/l/_rU8QvQjwkodX
https://dl.doubtnut.com/l/_tIwnZMvM2odn

9. Find the reciprocal of each of the following
fractions. Classify the reciprocals as proper

fractions, improper fractions and whole numbers.

9

7

° Watch Video Solution

10. Find the reciprocal of each of the following
fractions. Classify the reciprocals as proper

fractions, improper fractions and whole numbers.

6

5

° Watch Video Solution



https://dl.doubtnut.com/l/_MHnOyKxafxGK
https://dl.doubtnut.com/l/_VolqCBA7W9eR

1. Find the reciprocal of each of the following
fractions. Classify the reciprocals as proper

fractions, improper fractions and whole numbers.

12
7

° Watch Video Solution

12. Find the reciprocal of each of the following
fractions. Classify the reciprocals as proper

fractions, improper fractions and whole numbers.

1

8

° Watch Video Solution



https://dl.doubtnut.com/l/_krO8TIsN2Qkm
https://dl.doubtnut.com/l/_E0Et5Adqx4BG

13. Find the reciprocal of each of the following
fractions. Classify the reciprocals as proper

fractions, improper fractions and whole numbers.

1
11

° Watch Video Solution

14. Find:
7

— =2
3

o Watch Video Solution



https://dl.doubtnut.com/l/_RxAD0jgmSFWj
https://dl.doubtnut.com/l/_fncBnDxfqUxI

15. Find:

4
— =5
9

o Watch Video Solution

16. Find

6 . 7_6 T
_— e — = — reC| rocal or —
31 13 P 1

° Watch Video Solution

17. Find:
1

4— =+ 3
3

S


https://dl.doubtnut.com/l/_vrfMgFs1ZNRQ
https://dl.doubtnut.com/l/_ryvfXW8VpPsW
https://dl.doubtnut.com/l/_hzXRNrPH6EcZ

| ' Vvatch Video Solution

18. Find:
31 8
2" 3

° Watch Video Solution

19. Find:

4i+7
7

o Watch Video Solution



https://dl.doubtnut.com/l/_hzXRNrPH6EcZ
https://dl.doubtnut.com/l/_CjhbMUI4xdRG
https://dl.doubtnut.com/l/_hB0R7Gefgq8Z

20. Find

2 1 2 o]
572—5XFGCIPFOC80 9

o Watch Video Solution

21. Find:
4 2
9 " 3

° Watch Video Solution

22.Find:
3 8
7T 7



https://dl.doubtnut.com/l/_LUDfZ30cq7Me
https://dl.doubtnut.com/l/_7uSiBR5tH2Kc
https://dl.doubtnut.com/l/_A3pmWX8YI0j0

| ¥ Vvatch Video Solution

23. Find:
21 3
35

° Watch Video Solution

24. Find:
31 8
2 "3

o Watch Video Solution



https://dl.doubtnut.com/l/_A3pmWX8YI0j0
https://dl.doubtnut.com/l/_TITqSsyt1WUw
https://dl.doubtnut.com/l/_KdS8qmKLikFs

o Watch Video Solution

26. Find:
3 1 . 2
5 3

° Watch Video Solution

27F'd21 .3
-Find 25 + <

° Watch Video Solution



https://dl.doubtnut.com/l/_MSgT8ERQgk2x
https://dl.doubtnut.com/l/_C11jYQy0D7h6
https://dl.doubtnut.com/l/_Nnq7YBWL01SL

1. Which is greater?

0.5 or 0.05

° Watch Video Solution

2. Which is greater?

0.7 or 0.5

° Watch Video Solution



https://dl.doubtnut.com/l/_Nnq7YBWL01SL
https://dl.doubtnut.com/l/_iItM7Mp9vvQv
https://dl.doubtnut.com/l/_FB6DK1bmwxFh

3. Which is greater?

7 or 0.7

o Watch Video Solution

4. Which is greater?

1.37 or 1.49

° Watch Video Solution

5. Which is greater?

2.03 0r 230

S


https://dl.doubtnut.com/l/_QqEVcwqOrLP4
https://dl.doubtnut.com/l/_jOGivDxngA3O
https://dl.doubtnut.com/l/_V5I0DAC7KCaP

| ¥ Vvatch Video Solution

6. Which is greater?

0.8 or 0.88

° Watch Video Solution

7. Express as rupees using decimals :

7 paise

° Watch Video Solution



https://dl.doubtnut.com/l/_V5I0DAC7KCaP
https://dl.doubtnut.com/l/_60oRdB91gZCM
https://dl.doubtnut.com/l/_7otSpmMEf2sZ

8. Express as rupees using decimals :

7 rupees 7 paise

o Watch Video Solution

9. Express as rupees using decimals :

77 rupees 77 paise

° Watch Video Solution

10. Express as rupees using decimals :

50 paise

S


https://dl.doubtnut.com/l/_Hgqjg3l0bJrv
https://dl.doubtnut.com/l/_V9RgEJxIdr7L
https://dl.doubtnut.com/l/_46KJX3os3RnD

| ¥ Vvatch Video Solution

11. Express as rupees using decimals :

235 paise.

° Watch Video Solution

12. Express 5 cm in metre and kilometre

° Watch Video Solution

13. Express 35 mm in cm, m and km

‘ ° Watch Video Solution


https://dl.doubtnut.com/l/_46KJX3os3RnD
https://dl.doubtnut.com/l/_NBmwQsI14Ckp
https://dl.doubtnut.com/l/_jihALuhoF8mU
https://dl.doubtnut.com/l/_v7D4lOEXap88

14. Express in kg:

200g

o Watch Video Solution

15. Express in kg:

3470g

° Watch Video Solution



https://dl.doubtnut.com/l/_v7D4lOEXap88
https://dl.doubtnut.com/l/_726oFhKRvBc7
https://dl.doubtnut.com/l/_AZK5YQRa4s9O

16. Express in kg:

4kg 8 g

° Watch Video Solution

17. Write the following decimal numbers in the
expanded form:

20.03

° Watch Video Solution



https://dl.doubtnut.com/l/_tLz6XisneGcy
https://dl.doubtnut.com/l/_WUd0kGDHt5qC

18. Write the following decimal numbers in the
expanded form:

2.03

° Watch Video Solution

19. Write the following decimal numbers in the
expanded form:

200.03

o Watch Video Solution



https://dl.doubtnut.com/l/_kxO9FXJ6Rqzy
https://dl.doubtnut.com/l/_QAtNQhfBnDum

20. Write the following decimal numbers in the
expanded form:

2.034

° Watch Video Solution

21. Write the place value of 2 in the following
decimal numbers:

2.56

o Watch Video Solution



https://dl.doubtnut.com/l/_JIHjMdE3Q9RT
https://dl.doubtnut.com/l/_9S0UPI3KPdv9

22. Write the place value of 2 in the following
decimal numbers:

21.37

° Watch Video Solution

23. Write the place value of 2 in the following
decimal numbers:

10.25

o Watch Video Solution



https://dl.doubtnut.com/l/_sHvakxs4ZFRB
https://dl.doubtnut.com/l/_6DdMYCVz9Ucm

24. Write the place value of 2 in the following
decimal numbers:

942

° Watch Video Solution

25. Write the place value of 2 in the following
decimal numbers :

63.352

o Watch Video Solution



https://dl.doubtnut.com/l/_24ZzlS8USpkv
https://dl.doubtnut.com/l/_vsnvkKj0IZsK

26. Dinesh went from place A to place B and from
there to place C. Ais 7.5 km from B and B is 12.7 km
from C. Ayub went from place A to place D and from
there to place C. D is 9.3 km from A and C is 11.8 km

from D. Who travelled more and by how much?

° Watch Video Solution



https://dl.doubtnut.com/l/_smjhBjLs912Z

27.Shyama bought 5 kg 300 g apples and 3 kg 250 g
mangoes. Sarala bought 4 kg 800 g oranges and 4

kg 150 g bananas. Who bought more fruits?

° Watch Video Solution

28. How much less is 28 km than 42.6 km?

° Watch Video Solution



https://dl.doubtnut.com/l/_QNHn6yDXJgoo
https://dl.doubtnut.com/l/_rbMMKFSZp3Uc

1. Find:

0.2 x6

o Watch Video Solution

2. Find:

8 X 4.6

° Watch Video Solution

3. Find:

2.71 x5



https://dl.doubtnut.com/l/_ioAwPBZsDCB8
https://dl.doubtnut.com/l/_5EJWm7BFdWLS
https://dl.doubtnut.com/l/_1NVM3rgj60S6

| ¥ Vvatch Video Solution

4.Find

20.1 x 4

° Watch Video Solution

5.Find

0.05 x 7

o Watch Video Solution



https://dl.doubtnut.com/l/_1NVM3rgj60S6
https://dl.doubtnut.com/l/_lwahNpxSrb1R
https://dl.doubtnut.com/l/_Gr6Zbmf1LAKq

6. Find

211.02 x 4

o Watch Video Solution

7. Find

2 x 0.86

° Watch Video Solution

8. Find the area of rectangle whose length is 5.7cm

and breadth is 3 cm.

S


https://dl.doubtnut.com/l/_t057AyUZTFju
https://dl.doubtnut.com/l/_Xg913TJtcXR9
https://dl.doubtnut.com/l/_tnaGeaAaQUTW

| ¥ Vvatch Video Solution

9. Find:

1.3 x 10

° Watch Video Solution

10. Find:

36.8 x 10

° Watch Video Solution



https://dl.doubtnut.com/l/_tnaGeaAaQUTW
https://dl.doubtnut.com/l/_1owV5oqLcEgn
https://dl.doubtnut.com/l/_6K8w2t1HpG6t

11. Find:

153.7 x 10

o Watch Video Solution

12. Find:

168.07 x 10

° Watch Video Solution

13. Find:

31.1 x 100

S


https://dl.doubtnut.com/l/_ZCQ6UeoHLeEN
https://dl.doubtnut.com/l/_D70PROooBGlw
https://dl.doubtnut.com/l/_PoN2BMXYNxsX

| @ Vvatch Video Solution

14. Find:

156.1 x 100

° Watch Video Solution

15. Find:

3.62 x 100

o Watch Video Solution



https://dl.doubtnut.com/l/_PoN2BMXYNxsX
https://dl.doubtnut.com/l/_PgdBHKXs6MpA
https://dl.doubtnut.com/l/_hsBpeeH16tlP

16. Find:

43.07 x 100

o Watch Video Solution

17. Find:

0.5 x 10

° Watch Video Solution

18. Find:

0.08 x 10

S


https://dl.doubtnut.com/l/_RgNkIiSHLavR
https://dl.doubtnut.com/l/_hLRSM1hCJ6oR
https://dl.doubtnut.com/l/_PW1tiFADvMRo

| ¥ Vvatch Video Solution

19. Find:

0.9 x 100

° Watch Video Solution

20. Find:

0.03 x 1000

o Watch Video Solution



https://dl.doubtnut.com/l/_PW1tiFADvMRo
https://dl.doubtnut.com/l/_FOGgvXw7H8H9
https://dl.doubtnut.com/l/_98T68BfaeeXB

21. A two-wheeler covers a distance of 55.3 km in one
litre of petrol. How much distance will it cover in 10

litres of petrol?

° Watch Video Solution

22.Find:

2.9 x 0.3

° Watch Video Solution



https://dl.doubtnut.com/l/_FQyV6Chwnns5
https://dl.doubtnut.com/l/_SS3oIZphQKvd

23. Find:

0.1 x 51.7

o Watch Video Solution

24. Find:

0.2 x 316.8

° Watch Video Solution

25. Find:

1.3 x 3.1

e


https://dl.doubtnut.com/l/_5teZoCWt1RD2
https://dl.doubtnut.com/l/_qET2RmD1e63Z
https://dl.doubtnut.com/l/_IlpAAbW8jRXI

| ¥ Vvatch Video Solution

26. Find:

0.5 x 0.05

° Watch Video Solution

27.Find:

11.2 x 0.15

o Watch Video Solution



https://dl.doubtnut.com/l/_IlpAAbW8jRXI
https://dl.doubtnut.com/l/_7EMWT56ewXR1
https://dl.doubtnut.com/l/_X8NTqGGf4sfY

28. Find:

1.07 x 0.02

o Watch Video Solution

29. Find:

10.05 x 1.05

° Watch Video Solution

30. Find:

101.01 x 0.01

S


https://dl.doubtnut.com/l/_TJEy6PqW8u1d
https://dl.doubtnut.com/l/_ZoT65h8scXrD
https://dl.doubtnut.com/l/_yyCGrAr4Effk

| @ Vvatch Video Solution

31. Find:

100.01 x 1.1

° Watch Video Solution

1. Find

0.4 =2

° Watch Video Solution



https://dl.doubtnut.com/l/_yyCGrAr4Effk
https://dl.doubtnut.com/l/_2sVoG5daSZeR
https://dl.doubtnut.com/l/_FkEXM3A7YetZ

2. Find

0.35 =5

o Watch Video Solution

3. Find

248 + 4

° Watch Video Solution

4.Find

65.4 + 6



https://dl.doubtnut.com/l/_s9gg1j4NcTpo
https://dl.doubtnut.com/l/_Rszt5HgRcREy
https://dl.doubtnut.com/l/_rifuCwsw1TBb

| ¥ Vvatch Video Solution

5. Find

651.2 = 4

° Watch Video Solution

6. Find

14.49 + 7

o Watch Video Solution



https://dl.doubtnut.com/l/_rifuCwsw1TBb
https://dl.doubtnut.com/l/_iVVPzqrzWRnU
https://dl.doubtnut.com/l/_1S1V6pnQ8DRk

7.Find

3.96 + 4

o Watch Video Solution

8.Find

0.80 =5

° Watch Video Solution

9. Find

4.8 + 10



https://dl.doubtnut.com/l/_0MysEwaixVNI
https://dl.doubtnut.com/l/_dEBZ0qYvFpgC
https://dl.doubtnut.com/l/_ix1ErEpa0zux

| ¥ Vvatch Video Solution

10. Find

92.5 + 10

° Watch Video Solution

11. Find

0.7 =+ 10

o Watch Video Solution



https://dl.doubtnut.com/l/_ix1ErEpa0zux
https://dl.doubtnut.com/l/_GgwYXUk6OfCE
https://dl.doubtnut.com/l/_kjSdTuZ2tYPU

12. Find

33.1 10

o Watch Video Solution

13. Find

272.23 + 10

° Watch Video Solution

14. Find

0.56 = 10

S


https://dl.doubtnut.com/l/_u1NhD4q7BTy4
https://dl.doubtnut.com/l/_bJiVRHeP53H6
https://dl.doubtnut.com/l/_z4pEwS50JsTF

| ¥ Vvatch Video Solution

15. Find

3.97 + 10

° Watch Video Solution

16. Find

2.7+ 100

o Watch Video Solution



https://dl.doubtnut.com/l/_z4pEwS50JsTF
https://dl.doubtnut.com/l/_HwTaPb7GjRQR
https://dl.doubtnut.com/l/_U5Utif29XVCa

17. Find

0.3 =+ 100

o Watch Video Solution

18. Find

0.78 <+ 100

° Watch Video Solution

19. Find

432.6 < 100

S


https://dl.doubtnut.com/l/_z3mbFuiUgejV
https://dl.doubtnut.com/l/_Yb68EgqJ3M8A
https://dl.doubtnut.com/l/_op05vjf3RlBe

| ¥ Vvatch Video Solution

20. Find

23.6 = 100

° Watch Video Solution

21. Find

98.53 + 100

o Watch Video Solution



https://dl.doubtnut.com/l/_op05vjf3RlBe
https://dl.doubtnut.com/l/_KXL37nUmFtzq
https://dl.doubtnut.com/l/_pg3oFdItGooI

22. Find

7.9 <+ 1000

o Watch Video Solution

23.Find

26.3 <+ 1000

° Watch Video Solution

24.Find

38.53 + 1000

S


https://dl.doubtnut.com/l/_cF1ts7tJ7Hee
https://dl.doubtnut.com/l/_jtgrx2GP5nlb
https://dl.doubtnut.com/l/_0Gp4qdnux4C8

| ¥ Vvatch Video Solution

25.Find

128.9 = 1000

° Watch Video Solution

26. Find

0.5 <+ 1000

o Watch Video Solution



https://dl.doubtnut.com/l/_0Gp4qdnux4C8
https://dl.doubtnut.com/l/_awH9MduzVjWe
https://dl.doubtnut.com/l/_UqrxZmnmVHvE

o Watch Video Solution

28.Find

36 + 0.2

° Watch Video Solution

29. Find

3.25 =+ 0.5

S


https://dl.doubtnut.com/l/_SwF6A2RGujOE
https://dl.doubtnut.com/l/_abcOTdOMPmmd
https://dl.doubtnut.com/l/_7hq1dJPpClUT

| ¥ Vvatch Video Solution

30. Find

30.94 = 0.7

° Watch Video Solution

31. Find

0.5+ 0.25

o Watch Video Solution



https://dl.doubtnut.com/l/_7hq1dJPpClUT
https://dl.doubtnut.com/l/_nIrdy4UFCz56
https://dl.doubtnut.com/l/_yUrTuM5JW2m7

32.Find

7.75 +0.25

o Watch Video Solution

33.Find

76.5 <+ 0.15

° Watch Video Solution

34. Find

37.8 +1.4

S


https://dl.doubtnut.com/l/_4hUBPgZmDIlo
https://dl.doubtnut.com/l/_mWN0aMHLXelY
https://dl.doubtnut.com/l/_yGklcqHC9Wdf

[ o VWatch Video Solution ]

35. Find

2.73 + 1.3

° Watch Video Solution

36. A vehicle covers a distance of 43.2 km in 2.4 litres
of petrol. How much distance will it cover in one

litre of petrol?

° Watch Video Solution



https://dl.doubtnut.com/l/_yGklcqHC9Wdf
https://dl.doubtnut.com/l/_gYEAjv6cdqgt
https://dl.doubtnut.com/l/_5w2OlAwtytRh

Additional Question For Practice Fill In The Blanks

1
1. Simplest f f0.02is —
implest form of 0.02 is 10

o Watch Video Solution

2. To divide a decimal number by 100 move the

decimal point towards left by two places.

° Watch Video Solution

3. Place value of 5 in 12.675 is 0.005 or 5

thousandths.


https://dl.doubtnut.com/l/_zQj2Ak7a2A8z
https://dl.doubtnut.com/l/_D1zku9hDW3oy
https://dl.doubtnut.com/l/_dcKTX73QEuJj

° Watch Video Solution

4.66.6 - 100 = 0.666

° Watch Video Solution

: 3. 7
5. Improper fraction of9§ is 3

° Watch Video Solution

Additional Question For Practice State Whether True

Or False



https://dl.doubtnut.com/l/_dcKTX73QEuJj
https://dl.doubtnut.com/l/_ut3YNZCEFms5
https://dl.doubtnut.com/l/_dSyCm2kH3uMy
https://dl.doubtnut.com/l/_2077c9ge8a7c

1. Reciprocal of 1is O

o Watch Video Solution

2.1.26 > 1.4

° Watch Video Solution

3. 200 in decimal can be written as 0.005

o Watch Video Solution

4.Ilmproper fraction is always less than 1


https://dl.doubtnut.com/l/_2077c9ge8a7c
https://dl.doubtnut.com/l/_DuTidGdPfWVd
https://dl.doubtnut.com/l/_PB2GdyWjr6yF
https://dl.doubtnut.com/l/_WBPY31T37q3y

° Watch Video Solution

5 7
. Multiplicative i f3— is —
5. Multiplicative inverse o 37 IS 56

° Watch Video Solution

Additional Question For Practice Match The Following



https://dl.doubtnut.com/l/_WBPY31T37q3y
https://dl.doubtnut.com/l/_dKxmeOvIbHpo

1. Match the following

6
{a) Equivalent fraction of 7
{(b) 0.003 x 0.2

8
{c) 9

{d) 24 + 0.0006

1
4
2 4 3 .
(e) 3 X9 X 0x 5 proper fraction

° Watch Video Solution

Additional Question For Practice Short Answer Type

Questions

1. What is the excess of 40.8 over 19.7403

o Watch Video Solution



https://dl.doubtnut.com/l/_gZJQyNVp81Ga
https://dl.doubtnut.com/l/_BOGucfypTtXr

1
2. 5 of a number equals 9 = o7 from the number.

° Watch Video Solution

3. 1_76 of a number is 21. What fraction of same

number is 13 less than 21

o Watch Video Solution

4.In a refugee camp 48 kg rice is distributed. If each

6
refugee gets 5 kg of rice, how many refugees are


https://dl.doubtnut.com/l/_BOGucfypTtXr
https://dl.doubtnut.com/l/_bMjczoe7Neig
https://dl.doubtnut.com/l/_TuR9DH79BBEL
https://dl.doubtnut.com/l/_uQ4I3t9kzcmu

there ?

° Watch Video Solution

Additional Question For Practice Long Answer Type

Questions

1
1. Vishu paid Rs. 25,000 for the bike. This is 1 of the
price of the bike. Rest he paid in 12 instalments.

What is the price of the bike ? How much is one

instalment for ?

° Watch Video Solution



https://dl.doubtnut.com/l/_uQ4I3t9kzcmu
https://dl.doubtnut.com/l/_moMHAZK4KEn0
https://dl.doubtnut.com/l/_559EyXpWfwM3

11 5 2

2. Divide the sum of 3 and z by the product of -
d4 L
and 45

o Watch Video Solution

3. Simpli 4 1 '41—|—2f51 43
Simplify { £ = 3 | +dg + g of (55 — 45

° Watch Video Solution

4. A floor is 10.8 m long and 7.2 m wide. A square
tile of side 9 cm costs Rs. 27.35 is laid on the floor.
Find the number of tiles laid on the floor and also

find the total cost.



https://dl.doubtnut.com/l/_559EyXpWfwM3
https://dl.doubtnut.com/l/_z19sOn6A0Th9
https://dl.doubtnut.com/l/_7IKiQfyerXxp

| ° Watch Video Solution

Additional Question For Practice Hots

3
1. | read % of a book in 1 day and T of the

remaining book next day. If 100 pages of the book
are still left unread. How many pages does the book

have ?

° Watch Video Solution

Sample Paper For Practice Fill In The Blanks


https://dl.doubtnut.com/l/_7IKiQfyerXxp
https://dl.doubtnut.com/l/_YL2zuDe5hoFj

1. Reciprocal of 23 IS veeeennnn.

° Watch Video Solution

2. Four times 1 isequalto..........

o Watch Video Solution

3. 5 can be expressed in decimalsas...........

° Watch Video Solution



https://dl.doubtnut.com/l/_eXKyw7EGxIF1
https://dl.doubtnut.com/l/_u1pj4LdxN6H3
https://dl.doubtnut.com/l/_TxUHLr2qqGAr

2
4. Thereare......... minutes in 5 th of 2 hours.

° Watch Video Solution

5
5. Fraction 5 lies between ......... and 1

o Watch Video Solution

6. Decimal ti fd4+ —is.........
ecimal represention of 4 + 100 'S

° Watch Video Solution



https://dl.doubtnut.com/l/_l6MtI3ObYpsR
https://dl.doubtnut.com/l/_7Fj9kpFp5LHD
https://dl.doubtnut.com/l/_6BqpLNggww0b

Sample Paper For Practice State Whether True Or False

1. Which of the following statements are true/false.

Proper fraction is always greater than 1

° Watch Video Solution

2. Reciprocal of 1is O

° Watch Video Solution

3. To multiply decimal number by 10 move decimal

point to the left by one place.


https://dl.doubtnut.com/l/_LKc0aBOFlfZx
https://dl.doubtnut.com/l/_FlrOCcrbfeqb
https://dl.doubtnut.com/l/_vs4C0kbsOX8B

° Watch Video Solution

4. Product of proper fraction is less than each of the

two fractions

° Watch Video Solution

1
5. Hundred 100 together make 1

° Watch Video Solution

6 5 d = ivalent fracti
+ 7 and T2 are equivalent fractions

| e 1


https://dl.doubtnut.com/l/_vs4C0kbsOX8B
https://dl.doubtnut.com/l/_fH6Uv0VfdyYx
https://dl.doubtnut.com/l/_wI3oDKz246oY
https://dl.doubtnut.com/l/_sgsaknISeoZC

| & Watch Video Solution

Sample Paper For Practice Match The Following

1. Match the following

3% — ascending order
6.80 kg - 24 =

1 4 8

31373 — 0.005

2.003 - =2

1001.01 x 0.01 — 6800g

5 + 1000 — 10.0101

° Watch Video Solution

Sample Paper For Practice


https://dl.doubtnut.com/l/_sgsaknISeoZC
https://dl.doubtnut.com/l/_OZKZR6xzhZp5

2
1.If 3 of a number is 24. Then what is 1.75 times of

that number

o Watch Video Solution

2. Neha had Rs. 300 with her. Out of this she spent
154.07 rupees. Now she wants to buy a bag worth

Rs. 250. How much more money she needs to buy

the bag ?

° Watch Video Solution



https://dl.doubtnut.com/l/_vJWv0FDfAIkA
https://dl.doubtnut.com/l/_ibBE4Az4u3ii

1
3. A drum contains 1OZ litre of paint. A bottle has a
capacity of 1 litre To empty drum, how many

bottles of paint required to be taken out of the

drum ?

° Watch Video Solution

4.Reva bought 4124 kg of water melon. She sliced it
into as many slices as the number of the family
members and the slice among them. Find the

number of family members if weight of each slice is

0.275 kg.

[ ° Watch Video Solution


https://dl.doubtnut.com/l/_jciQDjWD9V07
https://dl.doubtnut.com/l/_tc6k2m0PXx3W

5. A rectangular sheet of paper is 125 cm long and

10§ cm wide find its perimeter and area.

o Watch Video Solution



https://dl.doubtnut.com/l/_tc6k2m0PXx3W
https://dl.doubtnut.com/l/_GHb2H2gFLDUC

